

EVALUATION OF PHYSICOCHEMICAL PROPERTIES IN FOREST SURFACE SOILS OF KOGI STATE, NIGERIA



A. A. Azeez¹* Y. A. Iyaka² and M. M. Ndamitso²

¹Department of Chemistry, Kogi State College of Education, Ankpa, PMB 1033, Nigeria ²Department of Chemistry, Federal University of Technology, PMB 65, Minna, Niger State, Nigeria *Corresponding author: Azeezakeem25974@gmail.com

Received: December 13, 2019 Accepted: January 28, 2020

Abstract: Evaluating the quality of soils is paramount for the maintenance of optimum growth conditions needed by plants. A field study was conducted to evaluate the physicochemical properties of the forest surface soils of Kogi State with the aim of establishing the fertility status of the forest. Forty surface soil samples were collected with soil auger at the depth of 0-20 cm from the study area. Standard analytical methods were employed to determine the physicochemical properties. The results showed that sand, silt and clay contents ranged from 51.80 to 94.00%, 3.50 to 31.00% and 2.00 to 22.60%, respectively. Texturally, the soils are mainly sandy loam and loamy sand textured with sand dominating the particle fractions of the soil. Soils were moderately acidic with mean pH value 5.52 ranged from 4.46 - 6.84. Electrical conductivity mean value was 0.237 dSm⁻¹ which ranged from 0.036 to 0.574 dSm⁻¹ indicating non-saline nature of the soils, suitable for plants growth and soil microbial processes. The soils were non- calcareous in nature and having mean CaCO₃ content of 1.03% (ranged from 0.08 to 2.00%). The mean of soil organic matter was 8.85 % (ranged from 3.19 to 13.35%) indicating high. Similarly, the mean cation exchange capacity was 15.02 cmolckg⁻¹ (ranged 12.20 to 18.60 cmolckg⁻¹) indicating moderate ability to retain nutrients. Finally, pH showed strong positive correlation with SOM, CEC and CaCO3 content while soil EC showed strong negative correlation with pH, SOM and calcium CaCO₃ content. From this study, it was ascertained that these forest surface soils are considered to be quality due to non-saline, non-calcareous in nature and proven to contain significant quantities of SOM and CEC. Also, the soils were predominantly sandy loam and loamy sand and possess suitable pH for normal forest ecosystems.

Keywords: Ecosystems, forest, soil quality, surface soil, physicochemical properties

Introduction

Soils are the naturally occurring physical materials covering of the earth's surface and a mixture of organic matter. minerals, gases, liquids and organisms that together support life. It serves as a natural medium for plants growth (Osuocha et al., 2016). Soil, as an integral element of the natural environment, is a non-renewable resource (Massas et al., 2013). According to Decock et al. (2015), soil is a key component of the earth system as it controls the geochemical, biological, erosional and hydrological cycles and offers services, goods and resources for human kind. To Keesstra et al. (2016), soils play an important role in global food security, water security, biofuel security and human health. Soil is a significant determinant of the economic status of nations. Soil ecosystem services fulfils human needs (Robinson et al., 2012), assigning economic value to things that contribute to human well-being.

Based on this fact, soil quality has received great attention in recent years (Sinha et al., 2014). Specifically, Khormali et al. (2009) refers to soil quality as a concept that includes soil physical, chemical and biological factors and it is used as a framework for the evaluation of soil quality. The quality of soils does not depend on its ability to supply adequate nutrients alone but the nutrients must be in the right proportion as needed by plants (Ayeni and Adeleye, 2011). In addition, high quality soils not only produce better food and fibre, but also help to establish natural ecosystems and enhance air and water quality (Griffiths et al., 2010). The quality of growth and reproduction of soils cannot be understood without the knowledge of its soil nutrient. The soil and vegetation have a complex interrelation, because they develop together over a long period of time, the selective absorption of nutrient elements by different tree species and their capacity to return them to the soil brings about changes in soil properties (Sharma et al., 2010).

The nutrients strength of a soil to maintain and support the plant growth generally depends on its parent materials. Researchers have reported that the nature of parent material has been found to influence development and characteristics of soils (Umeri et al., 2017). The estimation of soil available nutrient contents in a complex heterogeneous system is of a great pedological as well as ecological importance (Olojugba and Fatubarin, 2015). Soil nutrients play a central role in transport and reaction of water, solutes and gases in soils. Their knowledge is very important in understanding soil behaviour to applied stresses, transport phenomena in soils; hence for soil conservation and planning of appropriate agricultural practices (Olorunfemi et al., 2018). A good knowledge of the variations of soil physical and chemical properties and their interactions as it relates to micronutrient status is essential for good land evaluation which is a prerequisite for sound land use planning (Lawal et al., 2013). However, the physical and chemical properties of the soils play an essential role in controlling their fertility status (Ibrahim et al., 2010).

Physicochemical properties of soil are complex, often nonlinearly related and spatially and temporally dynamic (Rakesh *et al.*, 2012). Although there have been many studies on soil physicochemical properties of soil (Tukura *et al.*, 2013), there has not been any information on the physical and chemical properties of forest soils in Kogi State, Nigeria. For this reason, this research was aimed to evaluate the physiochemical properties of forest surface soils in Kogi state of Nigeria. This requires management intervention to maintain the overall biodiversity, and to improve productivity and sustainability of the existing forests. This however pointed out the need to evaluate and document the physiochemical properties of forest for proper management planning.

Materials and Methods

Description of the study area

This study was conducted in forest vegetative zone of Kogi State, Nigeria. The capital of Kogi State is Lokoja which is located on the confluence of Rivers Niger and Benue lies on Latitude 6° 44' North and Longitude 7° 44' East. Going by the present composition of the state, Kogi State is quintessentially Nigeria, with three dominant ethnic groups namely; Igala, Ebira and Okun (Yoruba) and several minorities (Omotola, 2008). Kogi state has a total land area of 28,313.53 square kilometres and on the basis of the 1991 Nigerian national population census, the total population of Kogi state was 2,141,756 (Ali *et al.*, 2012).

Kogi state just as many other states in Nigeria is blessed with natural resources. It has expensive fertile land for agriculture all over the state, coal at Okobo, Ankpa, huge deposits of iron ore at Ajaokuta and limestone at Obajana. The climate of the Kogi state is a tropical climate with two distinct seasons [rainy season (March – October) and dry season (November – March)]. The rainfall regime shows double maxima which is separated by a comparatively low rainfall period (dry period) in August called August Break. The mean annual rainfall ranges from 1,560 mm at Kabba in West to 1,808mm at Anyigba in the East. Average monthly temperature varies from 17 to 36.2° C. The temperature shows some variation throughout the years. The state is known for cultivation of arable crops such as yam, cassava, maize, groundnut, cowpea etc (Omotola, 2008).

Sample collection and preparation

A total of 40 composite soil samples were collected from forest vegetative zone within villages of East, Central and West of Kogi State and used for this study. These forests are uncultivated and comprise of shrubs, woodlands and deciduous trees without the protection of the state forest reserve agency. In each forest site, five soil samples were randomly collected in different points at the depth of 0–20 cm soil auger. Also, each composite was meticulously put in plastic container separately, labelled and taken to the laboratory. Prior to analysis, the composite soil samples were air- dried at room temperature in the laboratory, ground in a porcelain mortar using a pestle, sieved through a 2-mm mesh sieve and stored for laboratory analysis. Each composite soil was then analysed for the various physicochemical properties using international standard methods.

Laboratory analysis

Particle size distribution was determined by using the bouyocous hydrometer method as described by Gee and Or (2002) and classification was carried out using the USDA classification system (Soil Survey Staff, 2009). Soil pH and electrical conductivity of the soil samples were determined using a pH meter and conductivity meter in a 1:1 soil – water ratio as demonstrated by Osayandes *et al.* (2015). Calcium carbonate content was estimated following the procedure described by Rowell (1994). The Soil Organic Carbon (SOC) was estimated using the Walkley - Black wet oxidation method and the soil organic matter was determined by multiplied organic carbon with 1.724 (Nelson and Sommers, 1982). The cation exchange capacity (CEC) at pH 7.0 was determined following the procedure described by Chapman (1965).

Quality control and quality assurance

All reagents and chemicals were of high analytical grade and high purity distilled water was used for all dilutions. All glassware and plastic containers used were soaked in 10% v/vHNO₃ solution overnight (Onianwa, 2001) and rinsed thoroughly with distilled water before used to avoid contaminants. Blank samples were used to verify the precision of the methods employed and to control possible contamination. In addition, the degree of reproducibility of results was ensured by using duplicate analysis for each soil sample to check for precision of the instrument and method used for analyses. Finally, the accuracy was checked by use of buffer solutions (pH 4 and pH 7) for pH determination and reference solution (0.01moldm⁻³ KCI) for EC determination. *Statistical analysis*

Results obtained were subjected to statistical analysis to determine the mean and range. The existence of interrelationships between physiochemical properties of soils was tested by using Pearson's Product-Moment Correlation Coefficient (r). This statistical analysis was performed using SPSS, Excel.

Results and Discussion

Physical property of a soil plays an important role in soil fertility because the amount and sizes of soil particles determine the porosity and bulk density which account for nutrients retention or leaching of nutrients (Unanaonwi et al., 2013). Result of the study (Table 1) indicated that sand has the highest particle size distribution (71.70%) which ranged from 51.80 % to 94.00 % while silt particle occupied 16.75 % (ranged from 3.50 % to 31.00 %) of soil and the least being clay whose content is 11.54 % (ranged 2.00%-22.60 %) of soil. Soils of the studied forest soils can be described as light with its higher % of sand. The size distribution directly influences the porosity which is highest for sand as is expected because sand has no ability to retain water. This finding is supported with the findings of Adugna and Abegaz (2016) that found sand content of soils of forestland to be the highest

The results revealed that the textures of soil samples are mainly sandy loam and loamy sand textured. This is in conformity with what Uquetan *et al.* (2017) and Umeri *et al.* (2017) reported. In addition, the silt/clay ratio ranged from 1.06 to 2.73 with mean 1.50 was above 0.15 indicating that the soils are relatively young with high degree of weathering potential. This is in harmony with what was reported by Sharu *et al.* (2013) and Jimoh *et al.* (2016) on the soils. The finding further showed that about 48% of the soil samples contained more than 30% (clay + silt) contents. This has shown that silt plus clay content is a relatively important determinant of soil organic matter level in soils. The capacity of soils to maintain organic carbon is influenced by its (clay+ silt) content of soil (Bationo *et al.*, 2007).

Soil pH

In soil, pH is known as a master variable because it influences almost every process in the soil system. The health of crops and other soil life, the availability of nutrients, and the activity of pesticides are all affected by pH (Omar, 2012). The result in Table 2 shows that the mean pH of 5.52 obtained is within the ideal pH range of 5.5-7.0 for optimum growth and nutrient availability to plants (Brady and Weil, 2010) and suitable for crop production in Nigeria (Lawal *et al.*, 2013). Also, pH range of soil samples ranged from 4.46 to 6.84 with a mean value of 5.52 indicating that the soils were moderately acidic to almost neutral. This pH range is considered moderate based on the enumerated critical limits for interpreting soil pH levels by Abe *et al.* (2010). In addition, this pH range is almost the same with pH range reported in forest by Umeri *et al.* (2017); Osakwe and Akpoveta (2012) and Uquetan *et al.* (2017)

Electrical conductivity (EC) of the soil

Electrical conductivity is used to estimate the soluble salt concentration in soil and is commonly used as a measure of salinity (Wagh et al., 2013). The electrical conductivity measurement detects the amount of cations or anions (salts) in solution; the greater the amount of anions or cations, the greater the electrical conductivity reading (Atulkumar, 2015). The results in Table 2 revealed that the mean EC of soil samples was 0.237 dSm⁻¹ (ranged from 0.036 to 0.574 dSm⁻¹). Here, all the soil sampled (100%) were salt free (that is, no saline). However, the EC values obtained were within the normal range of less than 1 dS/m which is considered nonsaline and suitable for plants growth and soil microbial processes according to Deshmukh (2012) and Nachtergaele et al. (2009). Similar result of EC of soil was also reported by Jimoh et al. (2016) in Northern Guinea Savanna zone of Nigeria.

Soil organic matter (SOM) content

The benefits of a soil that is rich in organic matter and hence rich in living organisms (Bot and Benites, 2005). Soil organic matter serves multiple functions in the soil, including nutrient retention, water holding capacity, and soil aggregation and is a key indicator of soil quality (LaI, 2010). Results in Table 2 revealed that, the mean percentage of SOM of soil samples was 8.85% (ranged from 3.19 to 13.35%). The higher SOM content exhibited by the soil samples is consistent with that reported Ahukaemere *et al.* (2012); Straaten *et al.* (2015) and Adugna and Abegaz (2016) in forestlands. The higher organic matter under these forest lands might be attributed to continuous accumulation of un-decayed and partially decomposed plant and animal residues mainly in the surface soils of forestland.

Cation exchange capacity (CEC) of the soil

The results indicate that the mean value of CEC in the soil samples was 15.02 cmolc.kg⁻¹ (ranged from 12.20 cmolc.kg⁻¹ to 18.60 cmolc.kg⁻¹). The mean of CEC is considered moderate based on classified CEC by Abe *et al.* (2010). On the basis of this classification, 50% of the soil samples have CEC values >15 cmol kg⁻¹and 50% have moderate CEC. CEC is an important property of soil because it is a useful indicator of soil fertility and nutrient availability for flora growth (Hazelton and Murphy 2007). Thus high SOM increases cation exchange capacity (CEC).

Table 1: Laboratory	result of p	ohysical	properties	of forest surface	soils
---------------------	-------------	----------	------------	-------------------	-------

Sampling Site	Sand (%)	Silt (%)	Clay (%)	Texture class	Silt/Clay	(Silt + Clay) (%)
1	60.50	25.00	14.50	Sandy loam	1.72	39.50
2	62.50	20.50	17.00	Sandy loam	1.21	37.00
3	86.00	8.50	5.50	Sandy	1.55	14.00
4	55.50	25.90	18.60	Sandy loam	1.39	44.50
5	62.10	21.00	16.90	Sandy loam	1.24	37.90
6	90.00	6.00	4.00	Sandy	1.50	10.00
7	82.00	10.00	8.00	Loamy sand	1.25	18.00
8	54.90	28.50	16.60	Sandy loam	1.72	45.10
9	63.20	18.90	17.90	Sandy loam	1.06	36.80
10	67.50	17.30	15.20	Sandy loam	1.14	32.50
11	56.90	26.40	16.70	Sandy loam	1.58	43.10
12	77.00	12.90	10.10	Loamy sand	1.28	23.00
13	80.10	10.90	9.00	Loamy sand	1.21	19.90
14	85.40	8.90	5.70	Sandy	1.56	14.60
15	71.50	15.80	12.70	Loamy sand	1.24	28.50
16	92.00	4.70	3.30	Sandy	1.42	8.00
17	58.90	30.00	11.10	Sandy loam	2.73	41.10
18	52.10	31.00	16.90	Sandy loam	1.83	7.90
19	75.00	14.50	10.50	Loamy sand	1.38	25.00
20	59.30	26.40	14.30	Sandy loam	1.85	40.70
21	56.90	26.00	17.10	Sandy loam	1.52	43.10
22	94.00	3.50	2.50	Sandy	1.40	6.00
23	59.60	22.00	18.40	Sandy loam	1.20	40.40
24	73.90	18.00	8.10	Loamy sand	2.20	26.10
25	66.80	18.30	14.90	Sandy loam	1.23	33.20
26	76.00	13.00	11.00	Loamy sand	1.18	24.00
27	93.00	5.00	2.00	Sandy	2.50	7.00
28	66.50	21.30	12.20	Sandy loam	1.75	33.50
29	69.50	18.80	11.60	Sandy loam	1.62	30.40
30	71.20	14.90	13.90	Loamy sand	1.07	28.80
31	90.10	6.00	3.90	Sandy	1.54	9.90
32	76.20	13,80	10.00	Loamy sand	1.38	23.80
33	51.80	25.60	22.60	Sandy loam	1.13	48.20
34	81.00	11.00	8.00	Loamy sand	1.38	19.00
35	72.10	18.50	9.40	Loamy sand	1.97	27.90
36	89.40	6.40	4.20	Sandy	1.52	10.60
37	79.10	12.50	8.40	Loamy sand	1.49	20.90
38	68.10	18.90	13.00	Sandy loam	1.45	31.90
39	82.90	10.00	7.10	Loamy sand	1.41	17.10
40	57.40	24.00	18.60	Sandy loam	1.29	42.60
Mean	71.70	16.75	11.54	Loamy sand	1.50	27.29
Range	51.80-94.00	3.50-31.00	2.00-22.60		1.06-2.73	6.00-48.20

Table 2. Laborator	y result of chem				
Sampling Site	рн	EC (dSm ⁻¹)		<u>SOM (%)</u>	CEC (cmolckg-1)
1	4.74	0.456	0.20	5.01	12.50
2	5.95	0.141	1.30	9.93	15.80
3	4.81	0.343	0.43	6.62	13.30
4	5.78	0.124	1.43	9.98	16.20
5	5.85	0.114	1.50	10.09	16.60
6	5.53	0.255	0.83	8.38	14.30
7	6.39	0.070	1.80	11.67	17.40
8	4.49	0.574	0.18	3.19	12.00
9	4.46	0.538	0.08	3.31	12.20
10	5.91	0.105	1.63	11.49	17.00
11	6.33	0.076	1.75	11.63	17.30
12	4.79	0.372	0.40	6.59	13.10
13	6.46	0.062	1.85	11.68	17.50
14	5.71	0.177	1.13	9.86	15.20
15	4.73	0.414	0.33	6.51	12.80
16	6.07	0.080	1.68	11.62	17.20
17	5.43	0.202	0.95	9.83	14.80
18	4.49	0.478	0.10	3.35	12.30
19	5.29	0.301	0.73	8.32	14.00
20	4.85	0.450	0.28	6.49	12.80
21	5.68	0.187	0.98	9.83	14.90
22	5.44	0.309	0.63	8.19	13.90
23	6.84	0.036	2.00	13.35	18.60
24	5.58	0.150	1.23	9.91	15.60
25	6.22	0.087	1.65	11.60	17.40
26	5.78	0.132	1.35	9.97	16.00
27	5.83	0.128	1.43	10.00	16.40
28	4.74	0.401	0.38	6.57	12.90
29	4.59	0.476	1.25	4.97	12.40
30	5.71	0.167	1.08	9.85	15.00
31	5.26	0.308	0.63	8.24	13.80
32	6.63	0.046	1.80	11.73	17.80
33	5.90	0.237	0.88	8.41	14.60
34	5.45	0.212	0.90	8.61	14.70
35	4.81	0.361	0.48	6.71	13.90
36	5.52	0.158	1.18	9.90	15.50
37	6.70	0.043	1.90	13.26	18.30
38	4.95	0.328	0.55	8.17	13.50
39	5.88	0.108	1.57	10.91	16.80
40	5.35	0.282	0.78	8.38	14.70
Mean	5.52	0.237	1.03	8.85	15.02
Range	4.46-6.84	0.036-0.574	0.08-2.00	3.19-13.35	12.00-18.60

Table 2.	Laboratory	recult of	chamical	nroportios	of forest	curfoco	coile
I able 2:	Laboratory	result of	cnemica	properties	of forest	surface	SOUS

Electrical Conductivity (EC), Soil Organic Matter (SOM) and Cation Exchange Capacity (CEC)

Calcium carbonate content of the soil

The mean CaCO₃ content of soil samples showed 1.03% (ranged from 0.08% to 2.00%). On the basis of CaCO₃ rating suggested by Nachtergaele *et al.* (2009), the soils of the studied soils were non-calcareous in nature.

The results presented in Table 3 revealed the relationship between physicochemical properties of soil which might be positively or negatively, interfered with nutrient availability (Onwudike, 2015). There was a strong positive correlation (p < 0.05) between soil pH and SOM with correlation coefficient ($\gamma = 0.95$) which indicated the higher the pH (that is, the lower the acidity level of the soil), the higher the SOM. Also, significant negative correlations (p < 0.05) between soil EC with soil pH with correlation coefficient ($\gamma = -0.95$) which means that at low soil pH value, there is high soluble salt content and therefore high electrical conductivity. This research finding consistent with the study of Nur Aini *et al.* (2014) who reported that soil EC had significant negative relationship with the soil pH.

Table 3: Correlation coefficients between physicochemical properties of soils

properties of sons	
Physico-chemical properties	Correlation coefficient (r)
Soil pH and SOM	0.95
Soil EC and pH	-0.95
Soil CEC and SOM	0.96
Soil pH and CEC	0.97
Soil pH and CaCO ₃	0.92
Soil EC and SOM	-0.98

In addition, soil CEC showed strong positive correlation with SOM (p< 0.05) with correlation coefficient ($\gamma = 0.96$) which means that the higher the SOM, the more cation exchange capacity a soil has, the more likely the soil will have a higher fertility level. The research findings conform to the works of Olorunfemi *et al.* (2018) and Fasinmirin and Olorunfemi (2012) who all reported that soil samples with higher values of CEC were found to have high levels of organic matter and pH levels.

More so, there is a significant positive correlation between soil CEC and pH (p < 0.05) with correlation coefficient of (γ = 0.97). This finding agrees with findings of Olorunfemi *et al.* (2018) who all reported that soil samples with higher values of CEC were found to have high pH levels. Furthermore, a strong positive correlation existed between soil pH and CaCO₃ (p < 0.05) with correlation coefficient (γ = 0.92) which means that pH increased with increased in the amount of CaCO₃ present.

Finally, SOM showed negative correlation with EC (p< 0.05) with correlation coefficient ($\gamma = -0.98$) suggesting that high SOM tends to favour the immobilization of soluble ions in soils. This finding is supported by the works of Nelson *et al.* (2017) who all reported that SOM had significant strong negative relationship with the soil EC.

Conclusion and Recommendation

In conclusion, the forest soil samples in this study area contain significant quantities of all the nutrients analysed. These forest soils proven to contain high SOM, non-saline (that is, free from salt) and non- calcareous in nature. Also, the soils were predominantly sandy loam and loamy sand and possess suitable pH for normal forest ecosystems. These soils have moderate CEC values which might be due to the high SOM, presence of low amount of CaCO₃ and very low soluble salt in the soil.

In addition, pH showed strong positive correlation with SOM, CEC and CaCO₃. Also, soil EC showed negative correlation with pH and SOM. This correlation results showed that the interactions between these physicochemical properties seem to play an important role in supplying the soil with available nutrients. It is therefore recommended that, the conservation of these forests in Kogi state is an urgent need for the proper management practices of the forests which will in turn increase the quality of soils and the forest. This will reduce indiscriminate destruction of forest cover and protection of the surface soils.

Conflict of Interest

Authors declare that there is no conflict of interest related to this study.

Acknowledgement

This work is part of MTech thesis in the Department of Chemistry, Federal University of Technology, Minna, Niger State. First, our profound gratitude goes to almighty Allah (the most beneficent and most merciful) for the successful completion of this study. Secondly, heartfelt gratitude goes to the laboratory staff of the Department of Chemistry, FUT, Minna. More so, special thanks go to the laboratory technologists in the Department of Chemistry, Kogi State College of Education for their technical and analytical supports during the course of the laboratory work.

References

- Abe SS, Buri MM, Issaka RN, Kiepe P & Wakatsuki T 2010. Soil fertility potential for rice production. J. Agric. Res. Quarterly, 44(4): 343–355.
- Adugna A & Abegaz A 2016. Effects of land use changes on the dynamics of selected soil properties in northeast Wellega, Ethiopia. *Soil*, 2: 63–70.
- Ahukaemere CM, Ndukwu BN & Agim LC 2012. Soil quality and soil degradation as influenced by agricultural land use types in the humid environment. *Int. J. Forest, Soil and Erosion*, 2(4): 175–179.
- Ali S, Yusufu B, Moses SE & Abu M 2012. The Scramble for lugard house: Ethnic identity politics and recurring tensions in Kogi State, Nigeria. *Canadian Social Science*, 8(1): 130–135.

- Atulkumar HP 2015. Electrical conductivity as soil quality indicator of different agricultural sites of kheda district in Gujarat. *Int. J. Innovative Res. Sci., Engr. and Techn.,* 4(8): 7305-7310.
- Ayeni LS & Adeleye EO 2011. Soil nutrient status and nutrient interactions as influenced by agro wastes and mineral fertilizer in an incubation study in the Southwest Nigeria. *Int. J. Soil Sci.*, 6(1): 60–68.
- Bationo A, Kihara J, Vanlauwe B, Waswa B & Kimetu J 2007. Soil organic carbon dynamics, functions and management in West African agroecosystems. *Agricultural Systems*, 94: 13–25.
- Bot A & Benites J 2005. The Importance of Soil Organic Matter. *FAO Soils Bulletin*, Rome, pp. 12–15.
- Brady NC & Weil RR 2010. *Elements of the Nature and Properties of Soils*. 3rd edition. Pearson Education, Inc., Upper Saddle River, New Jersey, pp. 74–89.
- Chapman HD 1965. Cation Exchange Capacity. In Methods of Soil Analysis (Number 9 in the Series Agronomy), Part 2, A. Black, ed., American Institute of Agronomy, Madi-son, Wisconsin, pp. 891–901.
- Decock C, Lee J, Necpalova M, Pereira EIP, Tendall DM & Six J 2015. Mitigating N₂O emissions from soil: From patching leaks to transformative action. *Soil*, 1: 687–694.
- Deshmukh KK 2012. Studies on chemical characteristics and classification of soils from sangamner area, Ahmadnagar District, Maharastra. *Rasayan Journal of Chemistry*, 5(1): 74–85.
- Fasinmirin JT & Olorunfemi IE 2012. Comparison of hydraulic conductivity of soils of the forest vegetative zone of Nigeria. *Applied Tropical Agriculture*, 17(1): 64–77.
- Gee GW & Or D 2002. Particle size distribution. In: Dane JH & Topp GC (eds). Methods of soil Analysis. Part 4, Physical methods. *Soil Science American Book Series* No. 5, ASA and SSSA, Madison, WI, pp. 255–293.
- Griffiths BS, Ball BC & Bohanec M 2010. Integrating soil quality changes to arable agricultural systems following organic matter addition, or adoption of a ley-arable rotation. *Applied Soil Ecology*, 46(1): 43–53.
- Hazelton P & Murphy B 2007. *Interpreting Soil Test Result*: What do all the numbers mean? Australia: CSIRO Publishing, pp. 64–71.
- Ibrahim MS, Ali MHM & Kotb MM 2010. Soil properties as affected by different land management practices in the Sohag Region, South Egypt. *New York Science Journal*, 3(7):8–19.
- Jimoh AI, Malgwi WB, Aliyu J & Shobayo AB 2016. Characterization, classification and agricultural potentials of soils of gabari district, Zaria, Northern guinea savanna zone Nigeria. *Biol. and Envtal. Sci. J. Tropics*, 13(2): 102–113.
- Keesstra SD, Bouma J, Wallinga J, Tittonell P, Smith P, Cerda A, Montanarella L, Quinton JN, Pachepsky Y, Putten WHV, Bardgett RD, Moolenaar S, Mol G, Jansen B & Fresco LO 2016. The significance of soils and soil science towards realization of the United Nations Sustainable Development Goals. *Soil*, 2: 111–128.
- Khormali F, Ajami M, Ayoubi S, Sirinivasarao CH & Wani SP 2009. Role of deforestation and hillslope position on soil quality attributes of loss-derived soils in Golestan province, Iran. J. Agric., Ecosys. and Envtal., 134: 178– 189.
- Lal R 2010. Beyond Copenhagen: mitigating climate change and achieving food security through soil carbon sequestration. *Food Security* 2, 169–779.
- Lawal BA, Ojanuga AG, Isada PA & Mohammed TA 2013. Characterization, classification and agric potentials of soils on a Toposequence in Southern Guinea Savannah of

Nigeria. World Academy of Science Engineering and Technology. *Int. J. Biol., Veterinary, Agric. and Food Engr.*, 7(5): 146–150.

- Massas I, Kalivas D, Ehaliotis C & Gasparatos D 2013. Total and available heavy metal concentrations in soils of the Thriassio plain (Greece) and assessment of soil pollution indexes. *Envtal. Monitoring and Assess.*, 185(8): 6751– 6766.
- Nachtergaele F, Velthuizen HV & Verelst L 2009. *Harmonized World Soil Database*, (Version 1.1). FAO, Rome, Italy and IIASA, Laxenburg, Austria, pp. 1–38.
- Nelson AM, Tamungang EBN, Antoine DM, Georges KK & Kenneth M 2017. Assessment of physico-chemical and heavy metals properties of some agricultural soils of Awing-North West Cameroon. Archives of Agriculture and Envtal. Sci., 2(4): 277–286.
- Nelson DW & Sommers IE 1982. Total carbon, organic carbon and organic matter. In: Page *et al.*, (eds). *Methods* of Soil Analysis Part 2. Agronomy 9 second edition .ASA and SSA Madison Wisconsin, pp. 595–624.
- Nur Aini I, Ezrina MH & Aimruna W 2014. Relationship between soil apparent electrical conductivity and pH value of Jawa series in oil palm plantation. Agriculture and Agricultural Science Procedia, 2: 199 – 206.
- Olojugba MR & Fatubarin AR (2015). Effect of seasonal dynamics on the chemical properties of the soil of a Northern Guinea savanna ecosystem in Nigeria. J. Soil Sci. and Envtal. Mgt., 6(5): 100–107.
- Olorunfemi IE, Fasinmirin JT & Akinola FF 2018. Soil physico-chemical properties and fertility status of long term land use and cover changes: A case study in Forest vegetative zone of Nigeria. *Eurasian Journal of Soil Science*, 7(2): 133 – 150.
- Omotola SJ 2008. Democratisation, identity transformation, and the rising ethnic conflict in Nigeria. *Philippine Journal of Third World Studies*, 23(1): 71–90.
- Omar FM 2012. Obtaining chemical properties through soil electrical resistivity. J. Civil Engr. Res., 2(6): 120–128.
- Onianwa PC 2001. Roadside topsoil concentrations of lead and other heavy metals in Ibadan, Nigeria. *Soil Sediment Contamination*, 10 (6): 577–591.
- Onwudike SU 2015. Effect of land use types on vulnerability potential and degradation rate of soils of similar lithology in a tropical soil of Owerri, Southeastern Nigeria. *Int. J. Soil Sci.*, 10: 177-185.
- Osakwe SA & Akpoveta VO 2012. Effect of cassava processing mill effluent on physical and chemical properties of soils in Abraka and Environs, Delta State, Nigeria. *The Pacific J. Sci. and Techn.*, 13(2): 544–552.
- Osayande PE, Oviasogie PO, Orhue ER, Irhemu P, Maidoh FU & Oseghe DO 2015. Soil nutrient status of the otegbo fresh water swamp in Delta State of Nigetria. *Nig. J. Agric., Food and Envt.*, 11(2): 1–8.
- Osuocha KU, Akubugwo EI, Chinyere GC & Ugbogu AE 2016. Seasonal impact on phytoaccumulation potentials of selected edible vegetables grown in Ishiagu quarry

mining effluent discharge soils. Afr. J. Envtal. Sci. and Techn., 10: 34-43.

- Rakesh K, Rakesh KU, Kishan S & Brijesh Y 2012. Vertical distribution of physicochemical properties under different topo –sequence in soils of Jharkhand. *Journal of Agricultural Physics*, 12(1): 63-69.
- Robinson DA, Hackley N, Dominati EJ, Lebron I, Scow KM, Reynolds B, Emmett BA, Keith AM, De Jonge LW, Schjonning P, Moldrup P, Jones SB & Tuller M 2012. Naural capital ecosystem services and soil change. *Vadose Zone Journal*, 11: 5–10.
- Rowell DL 1994. Soil Science: Methods and Applications. Longman Group. Prentice Hall, Harlow, 110: 92 –186. ISBN: 0582087848.
- Sharma CM, Sumeet G, Ghildiyal SK & Sarvesh S 2010. Physical properties of soils in relation forest composition in moist temperate valley slopes of the central western Himalaya. *Journal of Forest Science*, 26(2): 117–129.
- Sharu MB, Yakubu M, Noma SS & Tsafe AI 2013. Characterization and classification of soils on an agricultural landscape in Dingyadi District, Sokoto State, Nigeria. Nig. J. Basic and Appl. Sci., 21(2): 137-147.
- Sinha NK, Chopra UK, Singh AK, Mohanty M, Somasundaram J & Chaudhary R 2014. Soil physical quality as affected by management practices under maize–wheat system. *National Academy Science Letter*, 37: 13–18.
- Soil Survey Staff 2009. Soil survey field and laboratory methods manual. Soil survey investigations report no. 51. USDA, Natural Resources Conservation Service, National Soil Survey Centre, Kellogg Soil Survey Laboratory, USA, pp. 457–459.
- Straaten OV, Corre MD, Wolf K, Tchienkoua M, Cuellar E, Matthews RB & Veldkamp E 2015. Conversion of lowland tropical forests to tree cash crop plantations loses up to one-half of stored soil organic carbon. Conversion of lowland tropical forests to tree cash crop plantations loses up to one-half of stored soil organic carbon. *National Academic Science*, 112(32): 99–56.
- Tukura BW, Yahaya M & Madu PC 2013. Evaluation of physicochemical properties of irrigated soils. J. Natural Sci. Res., 3(9): 135-139.
- Umeri C, Onyemekonwu RC & Moseri H 2017. Analysis of physical and chemical properties of some selected soils of rain forest zones of Delta State, Nigeria. *Agric. Res. & Techn: Open Access J.*, 5(4): 555–668.
- Unanaonwi OE & Chinevu CN 2013. Physical and chemical characteristics of forest soil in southern guinea savannah of Nigeria. *Global J. Sci. Frontier Res. Agric. and Veterinary*, 13(10): 5-10.
- Uquetan UI, Eze EB, Uttah C1, Obi EO, Egor AO & Osang JE 2017. Evaluation of soil quality in relation to land use effect in Akamkpa, Cross River State, Nigeria. *Appl. Ecol. and Envtal. Sci.*, 5(2): 35–42.